K73-24B8

METANNONNEHO4YHBIE

NONU3TUNEHTEPE®TANATHLIE KOHOEHCATOPLI

METALLIZED POLYESTER FILM CAPACITORS

Texumyeckre ycnoeua: ANMK.673633.010 TY

MpegHazHayYeHbl AONA

paboTel B

uenax

NOCTOAHHONO, nepemMeHHOro, nNynsCHpyHLWero
TOKOB H B MMNYNbCHLIX peXHMMax.

MoryT npumenaTeca Baamen K73-17, K73-30,

K73-34, K73-5.

KOHCTpYKUMA: OkyKIEeHHLIE.

HoMUHANLHAR BMEDCTE
HoMUHANBHOE HANPAKEHWE

(B MHTEpBANS TEMNBpPATYD

£0°C _+85°C)

[onyceagmoe OTKNOHEHAE BMEDCTH

Tamrexc yrna notape npu = 1y

ConpoTHEMNeHWE HAOMALMA
ana Cuom 5 0,33 pmedr

MocToAHHAR BpaMaHi
anaA Crom >0, 33ukcd

MuTepean pafiounx Temnepartyp

MameHeHHe aMEOCTH B WHTE&paana
MONOKHETENEHBLX TEMNapaTyp

HapaGoTtea
CpoK coXpaHAaMOCTH

KNAMATHSSCKOE HEMOMHEHWE

OBozHadeHne NpY 3aKase:

Konpgexcatop K73-248 - 100 B - 0,1 mud - + 20% -
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0,001 ... 6,8 med
63; 100; 160; 250;
AQ0; 630 B

+5: +10; +20 %

=0.012

23000 MO

21000 MO-iied

£0...+125°C

=10%
15000y
10 naT

WYX (93+£3% OTHOCKT.

BNAMHOCTI NPK
4042°C, 10 cyTox)

7.5 Mm (A — paccToAHWE MeX Y BEIBOOAMM)

Specifications: AOMNK.673633.010 TY

Designed to operate in DC, AC and ripple
current circuits and in pulse mode.

Can be used instead of K73-17, K73-30,
K73-34, K73-5.

Design: dipped.

B max

'

Rated capacitance 0,001 ... 6.8 yF

Rated voltage 63; 100; 160; 250;
(temperature range 400; 630 WV
60°C.. +B5°C)
Capacitance tolarance +5; #10; +20 %
Dis=ipation factor at f = 1 kHz 50,012
Insulation resistance

at Cr= 0,33 uF 2 3000 MOhm
Tirme constant

at Cr=0233 pF = 1000 MOhm-pF
Operating temperature range -60...+125°C
Capacitance change within
positive temparature range 510%
Oparating tirme 15 000 hours
Shelf life 10 years
Climatic catagorias RH 93+3%,

40+2°C_ 10 days

Ordering example:
Capacitor K73-24e - 100V - 0,1 pF - + 20% -
7.5 mm (A — lead spacing)



G U=100 B/ U =100V =250 B / U=250V
MKD | Lows | How | Bowo | A | d | VECEAT) Loy | Huw | Baw | A, | d, | aCC3
C., uF mm mm mm mm | mm max mm mm mm mm | mm max
0.0010
0.0015
0.0022
0.0033 9 9
0.0047
0.0068
0.0082 4.5 2.0
0.010
0.012 B T3
0015 | 44 75 2.0 10.5
0.018 06
0.022 4.5 ’
0.027
0.033
0.039 &
0.047
0.056 10.5
0.068 11.5 3
0.082
010 06 13 7.5 10
012
0.15
0.15 18 13 6 15 0.8 a5
0.18 4.8 3.0 4.3 31
097 13 co 13.5 11.5 11 10 0.6 34
0.22 ’ 10 18 14 T 08 4.0
0.27 6.1 a7
0.33 6.0 71 15 43
0.39 is 189.5 16 87 0.6 13
0.47 13.5 6.6 ’ 9.4 48
0.47 11.5 ’ 23 18 7.5 20 0.8 5.5
0.56 56 3.7 19.5 9.4 15 06 5.2
0.68 6.7 40 11.2 5.6
0.68 ' ] 23 19 9.0 20 7.0
082 | 445 56 | 45 42 27 88 | 5|08 |83
1.0 6.7 45 10.5 6.9
1.0 15.5 ’ ’ 23 21 ’ 20 4.0
1.2 7.8 4.7
1.5 8.5 50
1.8 6.0
22 27 20 6.7 225 >
2.7 7.2 ) 6.6
3.3 8.5 6.8
3.9 8.0 0.8 8.3
4.7 85 ’
5.6 33 23 10 275 -
6.8 11
Con U=63B/U=63V V=160 B / U=160 ¥V
Mx® Lonas, Hea, Binas; A, d, :":ii‘a; L Humas, Brmass A, d, Tﬂﬁ?gr
C:., uF mm mm mm mm | mm max mm mm mm mm | mm max
1.0 18 15 ] 15 4.5
1.5 18 15 5.5 14 ] 1.0 58
2.2 23 19 8.5 0.8 7.0 24 22 10 20 6.8
3.3 | 10.5 20 9.0
4.7 24 25 12 1.0 12




Com U,=400 B/ U,=400 V U, =630B/U,=630 V
M Lmanx, Hmax, Bmanx, A, d, Macca,r Lmax, | Hmax, | Bmax, A, d, Macca,r
Cr, pF mm mm mm mm | mm | Mass @ mm mm mm mm | mm [Mass.9
! max max

0.010 10.5 2.0
0.015 13 13 5 10 0.6 3.0
0.022 10.5 6 06 2.0 15 7 3.4
0.033 13 13 10 : 3.0 13 ] 36
0.047 15 7 34 18 14 7 15 4.0
0.068 13 5 36 15 a 0.8 4.7
0.10 18 14 5] 15 4.0 18 7 5.8

0.15 15 8 0.8 4.7 23 19 8.5 6.0

0.22 18 7 5.8 21 10.5 20 6.8

0.33 23 14 8.5 6.0 95 24 11.5 10 8.3

0.47 21 10 20 6.8 25 15.5 ) 12.0

0.68 24 11 8.3

1.0 24 27 14 10 12.0
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3aBMCMMOCTE OONYCKaeMoi aMnNNnTY Ok NepeMEHHOMD CHHYCOWOANEHOrC Hanpm eHna Ik aMnnuTyasl
nepemMeHHON CHHYCOWOANEHOR COCTABNALWER MyNsCHPYILWero HanpAkeHna UyoT yactoTel

Fermissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage
U as a function of frequency f
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Mpumep onpenenedns L Example of calculation of U; :
Oawo: f=1-10" My, U=U,,,=630 B, C...=0,1 mxd Given: f=1-10* Hz , U=U,=630 V, C=0,1 uF
Haxopum: Ur=13% o1 UL=82 B Finding: Uy =13% of U=82 V
Oawo: f=1-10° My, UsU,e=250 B, Cau=1500 n® Given: f=1-10* Hz , U=U,=250 V, C,=1500 pF

Haxogum: Uy =64,5% ot U..=161 8 Finding: Uy =64,5% of U=161 V




3aBMCHUMOCTE OONYCKEaeMoro paamaxa MMNYyNeECHOMD HanpAXeHWA &U“ OT 4acToTel CNegoBaHWA MMMTYNECOB

Fu. ANWTENBEHOCTH HAWMEHBLIETD W3 BPEMEHHBIX YYACTKOB T,, COOTBETCTEYHOLMWX DPOHTY Ty MKW CNAOY T.
WMNYNLCE, M HOMMHANLEHOW EMKOCTH Cyay

Permissible peak-to-peak pulse voltage AU, as a function of pulse repetition frequency F,, minimal temporal
sector r, corresponding pulse leading edge slope rp or pulse trailing edge slope . and rated capacitance C,

Wiiom, B
A
[ A
g § 8 88 g
10
% 8 B i-!:__L___ :I > = = 3
y = \'». T ‘* 4
4 T e
2 T — NN N
T ~—] N
1 g —1 | | |
10, P TR T ——
6= f=deheda ket ok ad=d= o S
4 = - s
AU ' - =l T . ToohE
U: 3 o v [t} ""‘--.'__‘_1[- ------ N N I N S N AN ¥
1nﬁ H : - "
8 ———— = : S
s 7 : LN
1 ' —-— H o B o
: i i .__‘-‘-‘ E U= IR T
i i H Fa
e ' H i Tu
15 22 334768 15 27 A3 4T EB 15 22 33 A4TEE 15 32 33 4T 62 2 5 2 5 2 5 2 5 P
1 1 10 10° Ml 101 10% 10 104 10%  10%

Cuotg —————

Mpumep onpegeneqna AL, :
NaHo:

Fu=2-10" My, T.=10% ¢,

U=U,e=630 B, Cuu=0,22 mrd
Haxoomm:

AlU,=6% ot U=37.8 B

Oano:
Fu=2-10° Ty, T.=10% ¢,
U=U,.=63 B, C,..=0,01 mxd

Haxogum:
AlL=40% ot V=252 B

MNpegensHO gonyckaembie amMnnMTyaa UMMYNLCHOTO TOKa I, U CKOPOCTL u3aMeHeHua HanpsxeHusa dU/dt

Example of calculation of AU, :
Given:

Fu=2-10* Hz , T.=10"s,

U=U=630 V, C,=0,22 puF
Finding:

AlU,=6% of U=37 8V

Given:
Fu=2:10"Hz , T.=10% s,
U=U=63V, C=0,01pF
Finding:
AL=40% of U=252V

Maximum permissible amplitude of pulse current 1,, and rate of the voltage change dU/dt



"",I:f C"E: ;‘,:“’ I, max, A dUfdt, max, Vips
63 15.47 16,5.51.7 11
0,001...0,0068 0,14..0.95 140
0,0082._.0.027 071.235 87
100 0,033..0,1 1,55..4,7 a7
0,12..0,47 3,36..13,1 28
0,56..1,5 8.4.225 15
1,868 144544 B
160 1,0.22 16,0..35,2 16
0,001...0,0068 0,14..0.95 140
0,0082._.0,047 0,71._4 1 &7
0,056..0.15 3082 85
0,15(L=18 mm) 45 30
0,18..0.22 99 121 85
250 0,22(L=18 mm) 59 27
0,27..047 BE._15 a2
0,47(L=23 mm) 75 16
0,56...0,68 179.217 a2
0,68(L=23 mm) 14,9 22
08210 139170 17
0,022..0,047 73155 330
400 0,068..0.15 60136 91
022.10 136 62,0 62
0,01..0,022 5,0..11,0 500
630 0,033_.0,068 4696 142
0,1..047 90423 80




